


Yyutenb MmateMaTtukm
MBOY COLL Ne49

Mapkaa Hatanbsa
BuktopoBHa



Toponncb MmeaneHHo.







Haitdoume cymmy u
PA3HOCTb MHO20UAECHOB.
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BunoaHume ymHodceHue
OOHOW.1eHa HA MHO20Y4A€H ,

3ANOo/tHUB nponycCxKu .

Ma+i)=3 a+ § (ac
4b(3b+20)= b2+ 8 ab

VD on O q = 2
3x3( 5x-Tx) = 15x° - ; ¥4



(4b* -3b% + Tb — 10) #(-2b%)=

-d(a t2)=-4a- 8§



Ynpocmume svipadxceHue u
Hauooume e20 3HaueHue. ,.

) 3(2x-1)+3(3-x) mpux=- 13 o

i 10-3)+ 3p-Ap 1) npu p=1 (ommm

))al2+rb To=Th mna=6,6; b=0deme

..D.anee eeeeeee




1) I(x-1)+3(3-x) =
=y -3+ 13- 3x =
=(6x - 3x) T (13-3) =

=x + 12;
-1,5 + I2= 105




i) L(2-3p)+3p-9p 1) =
={-30p+33p-p-9 =
dtp +33p-p)#(H-7) =

=-10p + 15;
10 2+I5 20+15 -)
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B) a‘+ab —-7a - 7h =
= (a® + ab) + (-7a - 7h)
=afatb)-7(ath) =

=(a+b)(a-7),
(0,0 +0,4)(0,6-7)= 7 (-),4) =-2,0

[

OTtBeT: - 2,8. i




NO N O ON N

B) a*+ab —7a - 7h =
= (a* -7u) + (ab - 7b)
=q(a-7)+ba-7) =

=(a-7)(a+Db)
(6,6 - 7)(0,6 + 0,4)=-0,4+7=-2,0

[

OTseT: - 2,8.




2) Jax — 4by — 4ay + 3bx =
=3 + 3bx) + (- dby - day) =
=J3X(a+b)-4y(b+a) =

= (a + b)(>5x — 4dy);
(3-1)(-3+8)=2-5=10
[ OtBert: 10. ) L 2cnocos
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2) Jax — 4by — 4ay + 3bx =
, (00 -day) + (- 4by +3by) 3

—(1(3\ Jy) - (4L/A)
o =(f3x-4y) th(3x-4y) =

=(Ox—4y) (a +b);
(-3+8)3-1)=5-2=10

[

OtBeT: 10. )













Cnacubo 3a ypok!
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